o g2

k

S
T

Al
=

s

i

—

Al x?—6x+k=00°] L 7H4

ki

1%

® 3 B 6 @ 9 B 36

D 1



2. xof tigh olAFAA (K - 1) -2k~ D+ 1= 00] 8l2& 7+
[q],k>m011:]—.m_4 %IE O}Cqﬂl'.

e =
-



3. AT AL xoll tiRt o)A ¥ +2(a-m-1)x+a*~b+m* =0
o] o] m 9] Fholl Al 4 & =R St a, b3S F27

D -2 ® -1 ® 0 @ 1 ® 2



O AFERA ¥ + 25+ 3 = 0 9 B 7] 919 FAAFA LR
A (x+a)? = b2 QYT oJu, A4 a, b ol Hste] a—b ©] S
Fstoler

Yk
=%



o]2HA] 2x2 — dx + 3 & HAS HLolA

@ (x-3)(2x+1)



Alax? +bx+c=09]
! (Ha bocop g

et A
A

2 <RH7]>

ol

go

rlo

@ 178

@ 270 3 370

@ 470

® 570



1

1
X+ + +
Vab ~ Nbc = ~ea

1

_’_7

Cc

1
b

1
a

x2 42

7.

of A5oltt)

© Azo
@ A=zt

.

A



a7k AL, f(x) = 22+ 2(a+1)x+a?, g(x) = »* +2ax+ (a—-1)?
o tated xoll that = ol 4] f(x) = 0, g(x) = 0°] ol T



0

2v3x2 —x— V3

=IB

1
® -3 @ 1

@ -1

=B

D -



a, et 2 W, va + B2

°
=

rJ
1

=09

Al x2—Tx+1

)
o

HF %

o1}

10.

olJ
N

® 4 B 6 @ 8 ®B 12

@D 3



2oax+a+1=09 F Zo] &0

gho Zslolal,

Lo



12.

O

12+

SE.O
=

v

i
-

i

QA 9x2 — 2kx+ k-5 = 09] T 0] 2471 2 of,
Folet.

[¢]

o

S
4>

]
=



gr2ol 1+ V5 o, a2



O

14. o|ZAPLAA] x2 - 14kx + 96k = 02] & 22 H|7F 3 : 4L uf, o k9

e Fotelet.

(]
o0
2
I



15. xof thgt o] 2APF Al x2 - 3px + 4g + 2 = 098] & 9] H|7} 1:27F
H L5 k= A p, gofl tote] b 5 G932 ¢ o o2 7P A2
7209
/\1__-

O -1 - ®

ORI
DO | =



o, x o

5}
=

a',,BE]'
a+1, g+ 10°]2t

Ko
=

nA

@ ol7t

xof o

16.

gt

O
=

09 F

Mo

@ 1 B 2

3 0



17. oAFYAA #2-3x+4=09 F T
]_

gkt of, a? + b2 2 abE
T 208 81, x29 A% 19 olxg A

a,b
g 2129

@ x*-8x+12=0 @ x*-7x+12=0
@ x24+7x+12=0 @ x*+5x+4=0

® x2-5x4+4=0



18.

_ _ 1 1

OJZAPYAA x2 +3x+1 =09 F & Ol,ﬁa'sé'“]{,a-i-ﬁ,ﬁ%-*
a

E F 702 ot oA} Al57t 19 oA AlS JEohA?

DO x®*+6x+4=0 @ x*+6x-4=0

@ x24+4=0 @ x2-6x+4=0

B 2—-6x—-4=0









2i 4 o, ab ©]

ol b+

ki

oA A 52 +4x+a =0 ]

21.

® -13 3 -12 @ -11 ® -10

@D -14



22,

o124 y = 22 + 2ax+ 25 0] T w7} ofel] 1T 2L uf,
X2 —2ax+b*+2=09 Lo T AP 7 2L 29
YA
y=1"+2az+2b
0 T
A& b2 ofo] A3 Zht}
A& e go) A2g Zhet)
%28 Zhet}
A& o2 250 Aae Zrett
M2 rhE = 518 7t}

© ® © 0 ©

L

Al
=



23. WA {14 (a+b)>2} 2 -2(1 —a-b)x+2 =09 o] A5 uf
a® + b® - 3ab Q] = oA ? (H, a, b= A

D1 ® -1 B 2 @ -2 ® 0



24. 3+ b5ay+ay? +y-27} xyo T A4l Fog vpehfjo)d o,
A} q.0] 3HE0



o x2—(2a+1)x+2 =0

S}
=

OZPFAA X —ax+b =09 F =, B2}

25.

SHA] 2.

:Il

O
=

Iot. olmf, a® + b* o] 2k



b

)

]

o] o

o] A7t 1

5

ol %

26.



xoll tgt o] A A x2 4 2%kx + 6k = 0] T 5
w

W+ @ = 16015, A% ko] L7 (B

1
, W T

@ 3



o, va+ VB4

S}
=

= a, Bt

0] &= <

Al x% 4+ 5x+1

B® Ti @ =7 B0

3i

®

@D ++3i



2-x+1

D f(x)
@ f(x)
® f(x)
@ f(x)

x2—2x+2

24+x-1

2 4+2x-2



30. ARPEAA xt 4 2ax® +a+2=00] AR T2 o] Ao AL M
o, A4 a9 gho] 9=

® a<-2 @ —2<a<-1 @ -1l<a<?2

@ a>2 B -1<a<0



